YAomoinon otoifag pe xprion mivaka

program StackExample;

const
MaxSize = 10;

type
Stack = record
Items: array [1..MaxSize] of Integer;
Top: Integer;
end;

procedure InitializeStack(var S: Stack);
begin

S.Top :=0;
end;

function IsEmptyStack(const S: Stack): Boolean;
begin

IsEmptyStack := S.Top = 0;
end;

function IsFullStack(const S: Stack): Boolean;
begin

IsFullStack := S.Top = MaxSize;
end;

procedure Push(var S: Stack; Element: Integer);
begin
if not IsFullStack(S) then
begin
Inc(S.Top);
S.ltems[S.Top] := Element;
end
else
writeln('H otoifa elvat yepdtn.');
end;

function Pop(var S: Stack): Integer;

begin
if not IsEmptyStack(S) then
begin
Pop :=S.Items[S.Top];
Dec(S.Top);
end

else



begin
writeln('H otoiBa gival adela.');
Pop :=-1; // Tyuny mou unodnAwvel 6L n otoifa sivat adela
end;
end;

var
MyStack: Stack;
i, element: Integer;

begin
InitializeStack(MyStack);

writeln('MpocBéote otoxeia otn otoifa:’);
fori:=1to5do
begin
write('Ztoeto ', i, " ');
readln(element);
Push(MyStack, element);
end;

writeln('Adaipéote otolyela amno ) otoifa:');
while not IsEmptyStack(MyStack) do
writeln('Adatpeitat: ', Pop(MyStack));

readln;
end.



